
S.NO. Company Name Purchase Price No. of shares Total Cost Current Price Current Value Net Change

1 Reliance Telecom 255.00 100 277.00

2 Airtel 245.50 200 255.00

3 Tata Infotech 300.50 50 310.00

4 LIC 150.65 50 155.00

5 HDFC 480.00 60 498.00

6 Bajaj Alliance 250.00 80 251.50

7 Reliance Insurance 230.00 100 245.00

8 TCS 450.00 200 480.00

9 IDEA 470.00 300 481.00

10 Hutch 400.50 150 420.00
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1. Enter the above Details in Worksheet.

2. Apply the formatting.

3. Calculate Total Cost = Purchase Price  x  No. of shares

4. Calculate Current Value=Current Price x No. of shares

5. Calculate Net Change = (Current Price - Purchase Price)/Purchase Price

6. Calculate Net Change in Percent Format.

7. Enter the below given data and also Calculate.
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